1225

W79 =hILT—4 / Technical Datall
##4FThJLY / Recommended torque: 0.3N*m ~ 0.6N*m

#ERNZ / Components

T / Product Number

AUX |

Hti& WFik D~tik

H dimension W dimension D dimension

R

Rubber feet

L E R4L#% / Original trapezoidal head screw specification

L - L

JLE EX(P/H)

Screw (P or H)

@ D

© P

[P] 75X / Phillips

75# / Hexagon—socket

£ 1£4% / Color Type

B itHk

Color Type

No. % ¥ / Part name = / Pos #ME / Material & - REAIE / Color+Finish
. I—F—7avy 4 FIEH ¥Rk ADCI2 DIN—, TSR
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 Rtk 4 TV A A6063S-T5 DIWR— , TZvY- TR/
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
3 HN— ; T ILEAR AT100P DIWR—, TFvT- TR
Top cover Aluminium A1100P Silver , Black*Anodized
4 Thii— ; T ILEAR AT100P DIWR— , TFvT- TR
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 JLRE 4 AT L I3y
Rubber feet Rubber Black
6 HRAHE R (M3 x 8) 16 E73 ST ILAYE
Screw (Flat head M3 - 8) Steel Nickel plated
7 HAHE R (B#M3 x 5) 8 % ZwirLAvEd | ZlRIAA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m/Title
FZILIavkO—)LiRyH R
ALUMINIUM CONTROL BOX

o]

#2/Approved

1R

%[/ Checked #[X/Created

ES A

#4% /Product number

AUX133-20-16R-C10

RE/Scale

F2% / Code | 2—4—T 0% / Corner block {8I#R / Frame #$178— / Top cover | TH/3— / Bottom cover
SSs 2 JLIS— / Silver < )LsS— / Silver < )L1\— / Silver < )LsS— / Silver
S B 75979 / Black 2 )LiS— / Silver < )L1\— / Silver < )LsS— / Silver
B X 75v% / Black 75v% / Black Y ILIN— / Silver L ILiN— / Silver
B B 75974 / Black 7594 / Black J5v7% / Black 757 / Black

{ERL B /Date 2022/11/30

~R—/Page

1/6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




152

A-A(1:45)

1105

D view

B view

E view

160+ 0.5

A view

1325+ 05

55

1255

C view
200+ 0.5
A —
To o)
. I
__:__ o T
I B ]
\* *
A —
c
i

F view

> Y

C-C(1:45)

113

153
B-B(1:45)
i/ Title
TAKACHI| #REHANFEHIE FLEavRO— LR R @ :I
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
2 /Approved #R[X|/Checked HX|/Created F& /Product number RIE/Scale
1:45
19 thig ES B AUX133-20-16RO-010 e
1ERLH/Date 2022/12/02 2/ 6
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A {84k / A Frame

|

5 5
2-M3AH IR
2-M3 Countersunk
150 225 X R¥EBEHR / Same on the other side.
N
™
L —
N
™
0 o
i 5
™ N
3
@
@
— I
N
@ —
XM / Front side 22 / Back side
B {84k / B Frame
"
L
""_r'_-l
K@ / Front side 221 / Back side
i/ Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:3
iR x (320 R—S /Page
H133 - W200 1R B /Date 2023/01/05 3/ 6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#x / C Frame

XM / Front side

D {8l#% / D Frame

& / Front side

131.5

110 22.5

125.2

3.2

33

33

3.2

251 / Back side

M / Back side

2-M3FAHY I}
2-M3 Countersunk
¥ R*IEHEHE / Same on the other side.

EE' EE%

B2/ Title
TAKACHI] #RXaitanFE@TE Bl @]==
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:3
iR x (320 P =y
H133 - D160 e B/Date  2023/01/05 4/°6

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




189.4

4-R14.7 4-@45
170 2

BHHtiE / Max dim. 113+£0.3

<
g 8
REE—MaI
Surface protective film side
O O O )
AT / Max dim. 153+ 0.5
R / Front side 2@ / Back side

RERHIATBRIE | i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7R/ Approved #R[X|/Checked HX|/Created F& /Product number RIE/Scale
1:2
iR ES Eaza) R=T/Page
W200 - D160 {ERL B /Date 2022/11/16 57/ 6
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




189.4

4-R14.7 4-@45
170 2

BHHtiE / Max dim. 113+£0.3

<
g 8
REE—MaI
Surface protective film side
O O O )
AT / Max dim. 153+ 0.5
R / Front side 2@ / Back side

RARHINTBRIE | i O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7R/ Approved #R[X|/Checked HX|/Created F& /Product number RIE/Scale
1:2
iR ES Eaza) R=T/Page
W200 - D160 {ERL B /Date 2022/11/16 6 /6
AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




